RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL

(Enrollment - December)

RESOLUTION NO. <u>06-787</u>

WHEREAS, the Tohono O'odham Council has reviewed the recommendations of the Enrollment

Committee in accordance with Section I of Article VIII of the Enrollment Ordinance,

Ordinance No. 05-81, and has made a final determination that the application of the

following applicant for membership in the Tohono O'odham Nation be approved:

ARTICLE II - MEMBERSHIP

1

2

3

4

5

30

31

32

33

34 35

36

37

38 39

40

41

42

43

44

45

46

47

48

49

6 SECTION 1(b) ALL CHILDREN BORN TO RESIDENT MEMBERS 7

8 3878-B-03 **Burgett, Maya Faith** 9 4152-B-06 Dougherty, Finnegan 10 4153-B-06 Storm Monje, Chloe M. 11 4154-B-06 Antone, Devin V. 12 13 3247-CK-05 Zazueta Jr., Armando Parades, Gabriel A. 14 3258-CK-05 15 3281-CK-05 Hernandez. Samuel L. Hernandez, Lillith P. 16 3282-CK-05 17 3290-CK-05 Navarrette, Erika I. 18 3291-CK-05 Navarrette, Mauricio J. 19 3293-CK-05 Mazon, Kiana M. 20 3326-CK-06 Garcia-Sanchez, Christian E. 21 3360-CK-06 Duncan, Desiree L. 22 Mease, Xavier I. 3361-CK-06 23 3362-CK-06 Shaw, Amirr L. 24 3363-CK-06 Norris, Iuliana E. 25 Secundino, Harlen V. 3364-CK-06 26 Miguel, Julius 3365-CK-06 27 28 2240-H-06 Velasco, Syanne 29

2240-H-06 Velasco, Syanne 2241-H-06 Rubio, MirkaCeleste 2242-H-06 Garcia, Justin J. 2244-H-06 Meza, Kobe I. 2245-H-06 Duran-Enos, Alejandro J.

2246-H-06 Hernandez, Katrina D.

2343-SX-04 Juan, Allison M. 2484-SX-06 Mungia Jr., Michael A. 2485-SX-06 Mungia, Mariysa A.

5272-S-05 Wilson, Alesia A.. 5162-S-05 Selee, Ann M.

2489-SO-06 Allen, Carrie J. 2506-SO-06 Joaquin, Miranda A. 2507-SO-06 Kelley, James J.

NOW, THEREFORE, BE IT RESOLVED that it is hereby determined that the above named applicant is eligible for enrollment as a member of the Tohono O'odham Nation under Section

1(a) or (b) of Article II of the Constitution of the Tohono O'odham Nation, and that

their application is approved, as herein above indicated.

	RESOLUTION NO. <u>06-787</u> (Enrollment - December) Page 2 of 3					
1	BE IT FURTHER RESOLVED that the Chairwoman and other appropriate officers of the Tohono					
2	O'odham Nation reduce this final determination in writing regarding each of the					
3	for egoing applications for enrollment in accordance with Section 1 (a) of Article XIII					
4	of the Enrollment Ordinance; give notice of this Council's determination in					
5	accordance with Section 2 of Article XIII of the Enrollment Ordinance; and place the					
6	names of each applicant upon the membership roll of the Tohono O'odham Nation					
7	in accordance with Sections 2 and 3 of Article X of the Enrollment Ordinance.					
8 9 10 11 12 13 14 15	The foregoing Resolution was passed by the Tohono O'Odham Legislative Council on the <u>04TH</u> . Day of <u>DECEMBER</u> , <u>2006</u> at a meeting at which a quorum was present with a vote of <u>1,343.4</u> FOR; <u>-0-AGAINST</u> ; <u>930.0</u> NOT VOTING; and <u>167.4[05]</u> ABSENT, pursuant to the powers vested in the Council by Section 1 of Article II and Section 1(h) of Article VI of the Constitution of the Tohono O'Odham Nation, adopted by the Tohono O'Odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48 Stat. 984).					
16 17 18 19 20	TOHONO O'ODHAM LEGISLATIVE COUNCIL					
21 22	Verlon M. Jose, Legislative Chairman day of Pecompe , 2006					
23 24	<u>b</u> day of <u>fleamper</u> , 2006					
25 26 27 28	ATTEST: Smin Jaka					
29	Lucille Lopez, Acting Legislative Secretary					
30 31 32	04 day of					
33 34	Said Resolution was submitted for approval to the office of the Chairwoman of the Tohono O'Odham Nation on the day of, 2006 at, 2006 at					
35	$\frac{1}{2}$.M., pursuant to the provisions of Section 5 of Article VII of the Constitution and will become					
36	effective upon his approval or upon his failure to either approve or disapprove it within 48 hours					
37	of submittal.					
38	TOHONO O'ODHAM LEGISLATIVE COUNCIL					
39	TOHONO O'ODHAM LEGISLATIVE COUNCIL					
40 41						
42	1/1/2/10					
43	Verion M. Jose, Legislative Chairman					
44						
45	V					

	RESOLUTION NO. <u>06-787</u> (Enrollment - December) Page 3 of 3	Manual 10
1	[V] APPROVED	on the S day of Nelluly, 2006
2 3	[] DISAPPROVED	on the 8 day of Alchuller, 2006 at 2:07 o'clock, f.M.
4 5		Vinan han Sandon
6		Vuuau mausaunden-
7		VIVIAN JUAN-SAUNDERS, CHAIRWOMAN
8		TOHONO O'ODHAM NATION
9 10		
11		a d
12	Returned to the Legislative Secretar	ry on the <u>$\partial \mathcal{S}$</u> day of
13		
14		0'clock,M.
15 16		
17	Sum York	
18	Lucille Lopez, Acting Legislative Sec	retary
19		
20		
21		
22 23		
24		
25		
26		
27		
28		
29 30		
31		
32		
33		
34 35		
36		
37		
38		
39		
40		
41 42		
43		
44		
45		
46		

ACTION: ENROLLMENT - DECEMBER

MOVED: COUNCILWOMAN OLIVIA LISTON SECOND: COUNCILWOMAN FRANCES MIGUEL

DATE: DECEMBER 04, 2006

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
BABOQUIVARI	1. FRANCES MIGUEL	155.40	x			
310.8	(Vernon J. Smith) 2. FRANCES G. ANTONE (Absent) (Lucilda J. Valenzuela (Norris))(Present)	155.40	X			
CHUKUT KUK	1. ETHEL GARCIA	129.35	x			
258.7	2. VERLON M. JOSE (David Garcia)	129.35	х			
GU ACHI	1. TIMOTHY L. JOAQUIN	110.80	X			
221.6	(Jonas Robles) 2. CYNTHIA E. MANUEL (Louis L. Johnson)	110.80	X			
GU VO	1. RAYMOND VICTOR	96.55			X	
193.1	2. MICHAEL FLORES (Grace Manuel)	96.55			X	
HICKIWAN	1. (Vacant)	83.70				
167.4	2. SANDRA ORTEGA	83.70				x
PISINEMO	1. BARBARA SALVICIO	85.90	X		-	х
171.8	2. GERALD FAYUANT	85.90	х			
SAN LUCY	1. (Vacant)	84.50			x	
169.0	2. GLORIA RAMIREZ	84.50			x	
SAN XAVIER	1. FELICIA NUÑEZ	96.90	X			x
193.8	2. OLIVIA VILLEGAS-LISTON (Eileen A. Estrada-Lopez)	96.90	X			
SCHUK TOAK	1. FRANCES B. CONDE	73.45			X	X
146.9	2. PHYLLIS JUAN	73.45			x	
SELLS	1. MARLENE SARAFICIO-JUAN	210 50			x	
421.0	() 2.EVELYN B. JUAN MANUEL (Absent) (Kimberly Listo)(Present)	210.50			x	
SIF OIDAK	1. WAVALENE ROMERO	93.35	x			
186.7	(Isidro Lopez) 2. DARLENE ANDREW (Rita Wilson)	93.35	X			X
	2,440.80	1,343.4	-0-	930	167.4 [05]	